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ELECTRONICS AND TELECOMMUNICATION ENGINEERING 

2. 

3. 

4. 

PAPER-II 

If the mantissa in the noaling point 
represemation of a number is 37 bils long, 
lhen what is d1e accuracy of the digital 
computer? 
a. 3 7 decimal places 
h. 23 decimal places 
c. II decimal tilaccs 
d. I 0 decimal places 
Which one. of the following is correct? 
The convention is that the number 0 has 
Ute normal fonn representation as 
a. 0 
b. ,0 
c. 0.0 
u O.to• 
f.'hllch Lsst I with List II and select the 
correct. Answer using the code given 
below dte. lists: 
Ust-1 
(Pascal Operator) 
A = 
B.<> 
c.= 
List- If 
(C Operator! 
I. ! .:;-

2. --
3. = 

C()de: 
A B c 

a. 2 3 
b 3 I 2 
c. 2 I 3 
d. 2 3 
For inlerfacing of assembly language 
routines with some high level language, 
one must address which of tbe following'/ 
I. How is tlte subroutine invoked? 
2 fiow are parameters passed? 
3. How arc. values returned? 
4. How many parameters are passed? 
Select the con·ecl answer using Ute code 
given below: 
a. I , and 3 only 

5. 

6. 

b. 
c. 
d. 

2 and -1 oul)' 
I, 2 anti 3 only 
1, 2, 3 and 4 

2 3 

A'-------'c 
1 

Consider tbe directed graph showo above: 
What •s its incidence matrix? 

- I - I 0 

a. 0 - I I 

0 I 

0 - l 

h. I I 0 

0 - I 

- 1 - l 0 

c. 0 I I 

0 -l 

0 I 

d. - 1 - 1 0 
0 _ , 

The parallel computers arc divided into 
which of ''"' following architectural 
con:fi gura tio n? 
I . Array processors 
2. Data processors 
3. Multi processonystems 
4. Pipeline computers 
Select lite correct answer usiug the code 
gi vcn below: 
a. I, 2 and 3 only 
b. 2, 1 and 4 only 
c. I, 3 and 4 only 
d. I, 2 and 4 only 
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1. 

s. 

9. 

10. 

I I. 

Tn nrder 1n huilrl • 3 hi1 simullnneou• .'vn 
Cl)nvertt:r. what ;,, the ournher <If 
compnr•tor cir.,uit• r•cquircd? 

"'" 1 
b. 8 
"" 15 
cl. 16 
Which one of tire following i• com:ct? A 
~ lier~ prngrarn is 
~~ . Any !iource progrruu J'Un on micro 

computers 
b. Any sal of illSb·uctions for prUnilivc 

operalion., in 3 system 
c. A general nume for ·macros• n&ed In 

assembly langun.gc prof!Tamrning 
d. !\ny progrru1r of • v~ry small size 
Wbidt an: th" characteristics of w rtic:rl 
m icro instructions'? 

L Considerable encoding of con!TQI 
informatiou 

2.. Limited 11hility to CI<!II'O!<S p3hl1Jd 
mkro oporution 

~- Long fomw 
Select tlte corrucl .1nswa using Utu code 
given below: 
a, l and 2 only 
b. 2 nnd3trn ly 

c. I >nd 3 ''" ly 
tl. L 2 and 3 
A ruagn.:tic drum o( 8 mch diamel"'' has 
tOO ltacks and • toragc density of 200 
hit•iin ~h. \Vhnt is i~ storage capacity? 
:L 84t)2 1)it< 
h. 20240<) bits 
I! 51124()() bit• 
tl. Hl04800 bil!i 
Mtt!ch Lis I-I uml select the wne-'l .answer 
usi"!t tbe code givcrt hclow the lists: 
List - I 
( Ty[le· of Memory) 
/\. DRAM 
B. l'iRAM 
C. 1-Ulrd Disk 
D. ~bgnetic T~pe 
List-n 
(Rotative f\CC<:$8 Time) 
I. I 
2, 10 
3. 10000(1 
4 itlOOO<IOO 
Corle: 

12. 

13. 

14. 

15. 

:! of 13 
A B (' D 

"· I 2 3 4 
b. l 2 -1 3 
c. 2 I 3 4 

d. 2 4 3 
Considet the l'ollv"ing sl3tomcnl• ! 
Bios slabltwatlon ln a BIT circoil is wry 
importanL becOJUSCJ it 
1. Provides hi&h voll•gc and current gnin. 

'2. En~urcs large b:mdwtdth or the 
nmptifier. 

3. Keop the upcratlng point unclr~nged 
with cluurgc oftcmpctalurc. 

Whlch of dtu nboY<l •l::ti<lmanls ishu't> 
con-eel'/ 

n. l11nd 2 
b. 2 and 3 
<:. 3 only 
d. I and 3 
Soun!e S1 produL~ -1 discrc~o ~ymbob 
wiUt eq~U~I probability. 
Source S1 produces 6 discrete symbols 
with "'lunl probability. 
If Ht 11nd H~ are the entropie. of sources s, 
and S~ fC'SI>Cc.th•dy, thMt Wilidi 0 1\C uf the 
foliO\Ving i.~ COI'r<lCt'? 
a. H1 is olwnys less Urnn H, 
b, H 1 is nlwn ys greal~-r th<m t·h 
c. fh iulwnys equal to fh 
d. H,is 1-S limesH,on ly 
·n1.e en!TQpy of a digital source is 2. 7 
bilstsymbol. It is producing 100 s~·mbols 
per sCOOIId. The source i• Ukcly to be 
which one of the followrng'' 
a. /\ binary source 
b. A quatem~ry source 
c. AH ocl31 source 
d. A h"x.odecltn~ l sout'QC 
Maleh Li~t-1 and Li;;t-IT •nd ~~)eel U1e 
com:cl ~n•wer using lh~ code given below 
the listR; 
LisH 

(Type of Noise) 
A Shot noi•e 
l3. Thermo! noise 
C. White no~<> 
D. Narrow band noise 
U.t-ll 
(ll:ll Property) 
I. Noise geu1:r.1ted in ir n:si~wr 
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16 

17. 

18. 

19. 

20. 

1. Power •J)e(:trul denSity is independent 
<II' lh:<1uency 

3. i<:1111>er•turc l imilt:~l di11de 
4. Noi.>c: atth~ output of • fUleJ' 
C<J<lt>: 

... 
h. 

"· d 

A 
1 

'(J 

-l 

1 
1 
~ 

c 
3 
2 
3 
2 

D 

II 
4 
I 

Which one of the following is the conecl 
~tillcment? 

lf Ute vn lue of a n:;istot ..:t'COtlng tbornul 
nol$e is doubled. the noist! gcnern ldd is 
"- lhhed 
b Dou~ led 
c. l fnchanged 
d. S ligh tty ahonged 
{'he outpull; of IQW nC>u;c s11urccs e.ch 
produci11& uniformly distn'buted noise over 
thtot rnnge ·a to + a aro- added. \Vhat is thu. 
p.d. f of the added noise'l 
"· l 'mlimnly di~hibtrtlltl ov~r the rnnge-

2:a tu •la 
b. Triar~gul•o• ov~:~· ~oc l'!lnge-1a U> Z. 
c.. Gl\ussi3n OVC::I' U1e rdnge - o~ to fl:) 

tl. N"onc of tho above 
Which of lhc following pulse uwtlulation• 
arc djgitnl7 
I. PCM 
2 J)iflerential PCM 
3. PWM 
Selcd the correct nn$Wcr us1n~; ~'" L'oJc­
given below: 
" · l •nd 2 or~.ly 
b. 2 and:! on))• 
c. land 3 only 
(( 1.2and ~ 
Which one ot' the tollowin_g is m indirect 
W3)' OJ' generating I'M'/ 
n. R~acl.lnoo FET Modulator 
b. Y OJ'lltter diod" Modulator 
c. Armstrong 1-lodulntor 
d. Re~al3ncu Wbc Modulo tor 
A good lin" codeAhould hove wbioh of tJoe 
fo llowio1g'l 
I F:ovomble psd 
2. I,<>W intt:r symbol intc:rl<.-renc.: 
3. Ade<1uute timing cuut .. ,l 
4 . TrallSpor<:ncy 

21. 

22. 

2:;-. 

24. 

~ ol I~ 

Select the cum:ct onswcr using the 
code: given below; 
a, I . 3 and + 
b. L 2. and -t 
c. 2., 3 and 4 
d. 1.1 and 3 
Multiplexing ,. p11ss il>lc if s i!!Jtols are 
s~mpled, Two signals have b:mdwidth• A 
= 0 to 4 lrH1. and B = ll tn 8 kl-17 
ccspcctivcly. l11e ·s:tmplin& ft't:qutncy 
cho;cn i~ 12 kH2. 
Which one of the fullqw ing i.• com:cl'/ 
n. is choice of the .amp ling frequency 
3,_ i~t correct since A and B hnve :tn 

integral relationship Q[ 2 

b. will not ltild til ali~~Sing 
c. docs nul obey s Jmpliog lheon:m 
d. can no\'Ct lead to multiplexing 
Which on~ of the tolll>wing is com :ct? 
In a TOM sy•t(;m each signnl L~ nUotted in 
• l'romo o Unique •nd 1i~Cil 
a. lreqnency slot 
b. lome s lot 
c. oroplitudc slbt 
d. phose s lut 
Molch List-1 with Lillt-ll and s"l.ct lhc 
com:c1 i.ln~wer using the c.odo giwn belo\V 
1he lt.tsr 
List-1 
(Medium Twe) 
A. Ojx:n v.irc 
B. Twist~d pair 
C. Coa.'!iai-<>Able 
D, W nveguid.e 
List-11 
(Fmquency Tunge) 
I. I 00 kHz 
1. f()() kHz 
3. LOO GH>: 
4. j.,() kHz 
Code: 

'3, 

b. 
c. 
d. 

A 
4 
2 
2 

* 

B 

:) 

1 

c 
2 

I) 

1 
3 

Motnh List-1 with List·ll and select the 
con·ect answer using the code given below 
Ule lis til : 
Lisl-1 
(Section) 
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A. IF :unplilie.-
B. Mixer 
C. Detector 
D. Automatic ga in conlrt>l 
Li.sHI 
(l'uncti<)ll) 
1. Dtmiodulator 
2. Nnmlw band tuned amplifi"r 
3. Vru·iable gn in •mplifier 
4. P"requency conYenion 

Code; 
t\ H c I) 

•• I 4 2 3 
b. 2 3 I 4 
c. I 3 2 4. 
cl 2 4 3 

2$. 11\e Boolean function~ can be C.'<prcs~ed in 
canonjc•l SOP <•om of pruducts) and POS 
(JJroduct of •urru~ l forrn. Fur the function. 
Y = A-lJ. C. which are such two fonns'/ 

a. Y = 1: ( I. 2. 6. 7) and V=tl (0. 2 . .t) 
h. Y= ~. ( I , 4, 5, 6, 7) ancl Y = II ( 0, 2. 3) 
c. Y :~ (1, 2.. S. 6~ 7) ~Uld )"::.Jl (0_ I. 3) 
d. Y = ~ ( I . 2, 4, 5, li, 7) anll Y = 11 ((l, 

2.~.4) 

26. The Boolean function A +BC is a reduced 
form of wbjcb one of the following') 
n. .\B + BC 

b .. ·IB ; AllC 
c. (A~ B). (A C) 

d. N one of tho Jbovu 
27. Which one or the following ~l.ntetl1enl~ i~ 

not co~t'l 

a. X+.\"Y • X 

h. X( X • Y) ~ A.'Y 

c. XY +Xl' = X 
cl. I:X+i!. .I'Y = /..X+ZY 

28. Consider the followrng statementS< 
Dominant-pole J'rclttien~)' '"mp<msntilln in 
an OP·AMP 
I. incr='es tho skw·rat~ of Ute OP· 

AIV!P. 
2. increa•es lhe slabilrty ofthe 01'-AMP. 
3. reduces the bandwidth of the OP-AMP 
-1. reduces tho CMRR vf thoiW-AMP. 
Whioh of Ill¢ SL:Iternents given above are 
corroct'l 
a. l and J only 
b. I. 2 ~nd 4 

29. 

3(). 

31. 

32, 

.I nl I~ 

c. I ~nd 2 nnly 
d. 2 an~ 3 <mly 
ln a proctical osdll:llor cir~uit, which one 
oftb.: foUowing limits Ule umplitudd of tbc 
oscillations? 
a. Onset of non-linearity 
b. Pow~-r•npply ' 'o llagc 
c. fhcillation fre<prencie<; 
d. ' l'en1per~ture of t he octive device 
Consider the lollowi11g st• tements: 
I. ""'wide band ampli lk,.,.. 
2. Are used m radio tnrnsmlltcrs and 

tct.:ciV<..'tS. 

-'· Pcrforrnance is dol<lnnincd by Q of the 
drcuit. 

Which of the st:~tements giw n above are 
correct.J 
a. 1 and 2 nnl) 
~- 2 ond 3 oul) 
c. 1 and 3 only 
d. 1. 2 and 3 
A feedback amplifier has an open loop 
gain of -J OO. If 4% of the oniput '" fed 
back ii1 a dcgcnct11tive loop. 1\ haL •• the 
clu>Jcd IOUJI gain of the aruplilior'? 
Jl. 33.3 
b. 15 
c. - '20 
d. -25 
Molch List-1 with LisHl and select the 
con'C:Ic.l answer using tJt.:;. code given be(O\\ 
lhc lists: 
Lisl-1 
(Type ofFeedbacli) 
A. Voltage series 
B. Voltage shunl 
C. Current series 
D. C IJITI:IIt $l&UJ!t 

List-11 
(EIT<'Ct 0 11 R ;0 and R ,.J 
1. Rm incJ'Ca~cs and R ..,. dccreaSClf 
2. R ,, Or\d R "'' dette"'c 
3. R m:snd R nt~ increase 
4. R mdecrc:ascs nnd R oolincreases 
Code: 

a. 
h. 

"' d. 

A 
l 
3 
J 

8 
4 
2 
4 

2 

c 

3 

0 
2 
4 
2 
4 
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33 

34. 

35 

36 

An amplltier has gain A =100 _ rso•. 
upper cut on· frequency of 100 kHz on<l 
lower cut off frequettcy of I kUz.. A 
negative feed bac-k of~ = 0 I is added. 
Which one oflhe followi ng is nol correct? 
a. Gain becomes I 00/11 
b Lower eu1 off frequency becomes 

(1000/l i )HT. 
c. Upper cut <lfl' frequency becomes I. I 

MHz 
d dB otfeed back is 201og10 II 
What is the collector circuir efficiency of 
a class B push-pull amplifierif 
V, = peak load voltage. and 
V <x: = col lecl\)r supply vollage? 

'ii ~ 
a ''t=--"-x JOO% 

4 1' , 

7r t' 
b ,,=--" ><' 100% 

2 ct 
lr , , 

o. 't=--"' xJOO% 
2. f',. 

d . . ,,= n ''... r: .. , JOO% 

~ "'" Which of lhe following con1ponents are 
chosen ro ronstntct a d.c power supply to 
supply to supply 6 V d.c voltage form 230 
V a.c to opcmle a tape recorder'/ 
I Step down rransformer 
2 Diodes 
J Rcsi,tors and capacitors 
4. Three-pin voltage srabilizer 
Sele.ct the con·ect auswer usin!.t the code 
given below ' 
a. I. 2 and 3 only 
b land 4 only 
c. .3 and 4 only 
d. L. 2. 3 and 4 

T 
R,. V 
~ . 
1 

·rhe figure shown a~ove i& n circuit of 
lvbich one of dlC following? 
a. Bri dge reclifier 

37 

38. 

39. 

b Vol tag~ doublers 
c, R~ctifier with filtru 
d. Comparato'' 

5 of 13 

Which of the following components 
control tbe high frequeucy response of the 
R-C coupled amplitier7 

I Parasitic capacitances of t he transistor 
2 Coupli ng capacitance 
3 , Stray C8J18Ci tances 
4. Wiring capacitaiiCu 
Select ~1e con-ect answer usiug the code 
given below· 
a. I aud 2 only 
b. 2 and J only 
c 3 and 4 only 
d. 1.3 and 4 

'·~~ 
The figure given above shows the circuit 
of which one of the following? 
a. Bi-stable multi-vibrator 
b. Schmitt trigger 
c. Mono-stablemultl-vlbrator 
d . As table multi vibrator 

v.,.. 

Slope o 

The figure gi vco above shows the transfer 
charactenstics 11f which one of tJ1e 
followin!!? 
a. Peak clipper 
b Bottom clipper 
c, Clamper 
d. 1\vo level cUpp<lr 
Match List-! with List-U ruld select the 
col'l'OCl answ~r ll$lng the code given below 
1he lists: 
List-1 
(Nan1e of the circuit) 
A. Pre-amplifier 
B. Power ampl i tier 
C Rectifier circuit 
D. l'urely resistive circuir 

Stu
de

nt
Suv

idh
a.

in

www.studentsuvidha.in

studentsuvidha.in/
studentsuvidha.in/


41. 

42. 

-B. 

44. 

List-11 
(Property of the circllitl 
I. Non-liner cironit 
2. Lumped. linear passive, bilateral, lin ito 

circ.uit 
3. Large signal :ompliliet 
4. SmaU si~nol ""'l'lifoeo 
Code: 

A u c 
n. 4 2 
b I ~ 4 

"' 4 3 I 

D 
3 
2 
2 

~ l 2 4 3 
A di!c:r<:te ~ource prouuces 8 $)•nbols and 
i~ memory-less. Tt• ~nt(()py is 
"" 1 bit/symbol only 
b. 2 bilstsymbol only 
c. :1 hitsl•ymbol nnly 
d. :5 3 bo1s lsymhc·ol 
As practical signals are lime limited, they 
h:rve inHnile l're<1uency bandwidth. 
S..uopling oii .. ing. an •uti-alios iug filer i• 
used 
"" beforoll~e sign.1l is rccon.<lrucled 
h. allerthe s ignal i~ recon$1tucted 
c. belore the signal is s>.mpled 
d. ;tiler the s ignal is sampled 
In optica l communicatiun . '>av~lclltgth 
1550 mtl i• usoJ nowadays. \\~tal islru•e 
tho possible ruason(s)7 
I. Dispersion is ve11 low 
2. WOM and opticnl amplilicntion nov 

feasible 
Select tlte correct answer using Ute code 
given below: 
" - l. 2 .10d 3 
b. 2 onl) 
c. 1 only 
d. I ond 3 only 
l'ommun ic•liOil s.11~llit.:s 
loondwoJth iJI 500 f\n-lz. 
im:rca'lcd hy usirt_s 

""' ~lion eo 
nlls can b" 

ll, _frCC[UCtiC")' and rw·ltnriz:&tiun rC>U-"C 
b. lime div iJiion multiplexing 
c. fi-cc~umcy div1llion multiplexing 
11. triple modular redundlltlC)' 
In reflex klystrons. the ndjlcUment of 
volume of the •node cavity "ill re>iult In 
ch•nge of 
il. out put power 
b. output pulso·width 

-16. 

-17. 

-18. 

49. 

so. 

51. 

6of13 
c. output frequency of nper.1t;oon 
d . out • ignnl 1(1 nois" ratio 
ll1e main pu'l>ose of inserting a 
microwJvc i5olatot iu a utic.rowavt: cir~il 
is for 
a._ offerlng minimum forward imped1111ce 
b. olfering max imum power out. pul from 

r.he source:: 

c. maint:tining lh:quency stabilil)' of th.o 
6QUI'CC 

d. m•int:uning amplitudc •tability of 
output power 

Tile underlying principle of W()fktn g of 3 
cavity w•ve meter. u~ed 10 measure 
.fr{;(tUency of microWal'cs in a systenl. is 
a. Selectiv" >b$Orptiou of microwave 

energy in solids 
b. Selective $Cattering of microwave 

energy by • cavity 
c. Rc.'-nnancc of micrmvavc:s around a 

cavity f\!souance of a cctvily with 
•ncomin.g microw::~ve energy 

A rubv maser is considered lo be superior 
lo •n A.nmonta Maser bec::mse of 
''· higher power output 
b. IO•\ ~ignollll noise rntio 
~- grc~t.:o-bond width 
d. low amplifi.:ntion foetor ond low noise 

levels 
(24)8 is e-'(jlressed in gray code as which 
one of the l'iltlowing• 
a. IIU()() 

b. IOLOO 
c. 11.110 
<l Lilli 
TI1e numbe~· of po.5iblo ord<:red tree• wilh 
3 nodes A. B. C i• 
~. 6 
b. ~ 
c. l\1 
d. 12 
u· 8085 odds 87 H 79 lL lheu 
a" both CARRY ond ZERO Jl•!ll' "ill be 

5Ct [I) 0 

b. CARRY llag wi ll •etlel 0. Zero i1"g w 
I 

c. C1\RRY llag will he set 1\1 I, Z'FlRO 
O:tg w 0 

d. Botlo CARRY ond ZERO llug• will be 
<OliO 1 
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52 

53. 

54. 

Un the 8085. wbich of lhe Ji>llowing 
machine cycles are pc)l u;;ed in Lh" CALL 
instruction'! 
J. 1n•IJu~tion Fct~ 

2. l/0 
3. Momory Reod 
~ . l\lecnory Write 

$eleel the correcr nnswer n>ing the "''rle 
given below· 
>. 2 ou ly 
b. l •nd ~ 
c. 23 ond 4 

d. NOne uflhc nbuvc 
In 80H5. if ll1c d od <: froqu~-ncy ls ), Ml lz. 
the l ime required to e"eoute nn insiTUCiion 
nf 18 T stales is 
n. ~.11 J.1S 
b ;l .6 JL~ 

C. ._i,(l jLS 

" 6.(1 J.IS 
Which lmc of the fllllowin!t cntcrrupL• is 
hnth level oml cdgo sensitive? 
u. RDT7.5 
b. RST 5.5 

~. TRAP 
d. l)rfR 

55. A sroup persocu l computet10 are 
contigured to work tog<tl1er lbr speeding 
up lhl> c:(cCUtiOn of D singk program in 
:1. simu lntod cvllluation 

b cluster computin£ 
c. network computing 
d client sen•er computing 

Olr••·•ions: Each ut'the following seven (71 items 
cott6i&LS of two 6latOtnt:1clS. one l•l>clod as the 
'Assertion (AJ ~nd tho oUter ns 'Reru;on (Rr you 
area to e)(nmine the&e two alatements C4feftolly 
and select the :IllS\' ~-rs to thd c items using the; 
L'>Odcs- t?h't..-o below: 

Codes : 
(>I !lo th A and R ore individua lly true and R is 

lhe corre<:l e'plnnotion of i\ 
(b) Both A oml !{ are mdividunll~ lrue but R tS n"l 

the C<UT.:Ct cxpltmllloon c.r A 
(Cl A is true hut R is f~l~c-

(d) A is fnlsu but R is true 

56. 

57. 

58, 

59. 

60, 

61. 

62. 

63. 

7 ul IJ 
AS5ertion {A): A high value of 
resi;~;'lor is conntcted acrol{s. the diode if\ a 
cl nmper circuit for beUc:-r pcrrormance. 
Rtru;on (Rl: u· ll•i• r""istor is not 11rcs~nt. 
!he circuit will re<pond t<o .sudden dt:Crease 
fn che mognitude of che tnpul puis~ lrnin . 
but the n:•pon~o to •udden in'*aso in the 
ampHtud" , ,,.ill Cause jJUJU Vl)CI tc.Spon~c. 

,'\s.•crtiun (A): Complementary tmns istoc" 
:ue used thr clos.< B push-pull power 
:.rnplilitrs. 
Re3son IR): we dou· t ue"d trdtlsformero if 
we use colllplcmtntru_y tr:msistm~ in class 
fl push-pu ll power amplifiers. 
Assertion (,\J: 0-f.tip-flops ore used n.~ 
butTe~ regi<ter. 
Rtasun (Rl : D-l'litl·flnps ore froc (rum 
"r• cc-oround'' condition. 
Assertion (A): Tho syslcm l t>viug 
charncte!'.sfie equation 4s1~ 6s+ l = II gives 
rise to under-d.~mped oseillntioo ftl r ~ step 
input 

Rc•soro (R): 'IJtc un-<lau'l"'' ' u111ur~l 
frettuoncy of o.cillntion of the $}'Stem is ~~~,, 
=0.5 rodls. 
Assertion {.'\ ): linlropy of o binary source 
is mnximuno if tb<} probabilities of 
occ:urn:nce of both thu evl!nts are equal 
Rc.uon (R): ·nu, avc.:mge- amo unt of 
information per source "'ymbol is coiled 
enttop)1 for a merHOI)' less source. 
Asscrtiun (A)~ (s.)lation tronsformcrl! 
should a lwa~> be ""~d when scrvioiug 'I'V 
receive rs ,,·ltho ui power lr:sn.sfonners. 

Re:>«tn (R); TV rl:'.)<)ivc:no which m .... 
ScJTiic<:.onclucl(lr recti fiers de nlll • lways u~e 
a [)Ower tr>Mformer. 

Asse-rtion (i\): Pulse broadening is a 
phenomenqn ~~~ooialed witlt multlmode 
fij,ers. 
Reason (I{); Mu.ltimode frVt:~'- bave core 
diamt'l.,.- much L'U'g,« contpan:d with 
~angle mode fit~. 

In a cL,ss A amplifier, VCEI"""' = 15 V and 
V """'' '' ~ I V. The conv.,..,.ion ~mciency 
lor a s<-'fic" fed load wiU be c<tufcliO 
11. 25'1o 
b. 23.3<-'o 
c. 11!\i 
d. 11.7•. 
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64 NeutrnlilJng capacttors &n~ noiOllall y used 
111 

a. Audio amplifiers 
b Video amplifiers 
c, RF and IF amplifiers 
d. Operational amplifiers 

CIS. Silicon diodes are less suited for low 
voltage rectifier operation because 
a, il c:umot wi ll1stand high temperatures 
b. i ls rever'Sc- saluratiun current is low 
c. i Is cut-in voltage is high 
d. iiS brealtdowt• voliage is high 

66. C'E configuration is Ehe moSL preferred 
transistor configuration when used as a 
switch, because 
a, i I requires only one pow•r supply 
b. il requires low vohag" or t'tmenl for 

operattL>g I he switch 
c il is easily understood by eve~y one 
d i L has small ltl!t> 

67 The figure or meri l or " logic family is 
!,.;ven b)• 
a, gain bandwidth product 
b (propngation dalay Lime) x (power 

dissipation) 
c. (fan-out) x (propagation delay time) 
d (noise margin) x (power dlssi pation) 

68. '!"be 12L (1J1tegrated lnjeciJon Logic) bas 
higher density of irllegratlon thaQ T'I"L, 
beGause it 
a. does not require transistors with high 

current gain and hence they lu!ve 
smaller geometry 

11 uses compact bipolar transistor.; 
c. does no1requirc lsoletion dit'fusion 
d. uses dynamic logic Instead of static 

logic 
59 Wbicb Dnc of the followrng statements is 

correct'/ 
a. PROM contains a programmable AND 

array aud a fLxed OR array 
b. PLA conraius a fixed AND aJT'dV and a 

programmable OR array 
c PROM contains a foxed AND 8J rsy 

aud a programmable Olt array 
tl. PTA contains a pr<>gnmunable A}fD 

array and a fixed OR array 
70 How mauy bits will a 0/A coov"rter use 

so that its fu11-scale output voltage is ~ V 
mid is resolution is at the most I 0 rn V1 
a. 5 

~ of 13 
b 7 
C, 9 
d. I J 

71. The impulse response of a linear time 
invariant system is, giveu as 

g(t) = e'', t > 0. 
The 111!JJSfer fuuction of UlC sr stem is 
etiUIU 
it); 

a 1/s 
b. 1/ls(st l) l 
c. 1/(s • 1) 
d, s/(s + 1) 

72 ln case of d.c. servo-motor the back-emf is 
equivalent !O an ·'electric ftiction" whicb 
ttmds to 

a. improve stability of the motor 
b. slowly drerease &tability of the lltOtor 
c very rapidly Uecrease stability of llte 

motor 
d. have no e!'fect <>n stability 

73 A system with gain margi n clos~ to urtily 
<)r a phase margin close to zero is 
a, relatively stable 
b oscillat<1ry 
c. sLablc 
d. highly Slable 

74. The open-loop transfer function of a unity 
feedback conLrol sys!ent is given by 

G(s) - Ke·T• 

where K and T are variables and are 
greater than zero The stabilily of Ute 
closed-loop system depends on 
a. K only 
b. Both K and T 
c. 1' only 
d. Neitlter K nor T 

75. The input Loa coulroller is 
a sensed signal 
b error signal 
c. desired variable value 
d. signal of li:<ed amplitude not 

dependem on desired variable value 
76 The open loop transfer function of a unity 

ft'edback couLrol system is 

G(o) • K I 
,.,.-..:•:.:ls"-C+ I) ($ • • 5) 

What is the value of K for its slnble 
operation? 
a, 0 < K < 5 only 
b. O< K < 6only 
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77. 

78. 

79. 

so. 

c. O< K 3U 
d I • K < 5 only 
Consider the unity l'eedback system with 

G(e) a K 
ls~+2s + 21 (s+2) 

The system is margilllllly stable What i.~ 
lt.. mdinn f~qucncy of osdllution? 
a, ,fi 

b ,[3 

"- ,[5 
d .[6 
The chuructel'islic equation of u ronlrol 
sy•tem is gil en by 
s' + s'+ 2s1• 2s1 + 4s b 0 
Whal IS lhe number 01' roots 01' th<l 
equauon Which he In the nght hall' Of s­
plane ? 
a. Zero 
b 1 
t L 
tl 3 

A diaphragm type pressure S<JnSur h!IS two 
poles !IS shown m the figure abu,·e. l'he 
zeros are at mtinity. What IS 1ts steady 
state deformauon for a unit Step mput 
preS1urc? 
o. 0.1$ 
b 0.5 
"- 0 707 
d 
A second order control system has ~ 

j
. 

1
. • 16 

trnns cr unction 2 , •4.1 + If> 

\:Vhut IS Ute 111110 for the J"lr~l overshoot ? 

a 21f 
'13$ 

b. 
tr 
13'' 

rr 
r. JJi/ 

~I 

82. 

83. 

IT 
d • r.> 

+Y-' 

" .... 11 

A cl<)ired loop system is sho1"n m the 
•tbo1 e fisure 
\\'hat is lh~ ratio of output frequencies 
ro(fi" K ,. .n) 1 
{!)(/<If }( : 16) 

a, j 4(1 

b l 42 
c. 1 44 
d 1.46 
Match l.t~ l I with LISt II nnd !o<:li:cl the 
correct ans\\er usmg. Lhe code give11 below 
Lhe hsts: 
LISt I 
(Shape of Nyqaist Plot) 
A. The plot does not inten<e<Jl negnth·~ 

real nxis 
B. Tho plot lhtcrsec.L' negati\ ~ real a.•is 

between 0 and (·I,J 0 ) 
C The plm passes through the poontt·l ,J 

0) 
D The plot encloses the point H . j OJ 
List II 
(Gnin Mar~in) 
I < ()dB 
1 0 diJ 
3 -> OdB 
4. "'dB 
Code: 

n. 
b. 
c. 
cl 

()AlN 
[dB) 

!\ 
J 
4 
3 

B c D 

"' 
2 

J :?. 
2 I 

3/l:l 2 

-.l---t~~-1---
u -z :- tilO" • 00" l'liASE DECJw.tlS 

-20dll 

Th~ guin-phnsc plot or u linc:u control 
system IS shown '" the above figurtl. 

Stu
de

nt
Suv

idh
a.

in

www.studentsuvidha.in

studentsuvidha.in/
studentsuvidha.in/


84. 

What are lhe gait>-margin (OM) an~ th~ 
phase-margin (PM) of the system? 
a. GM > 0 dB and PM > 0 degree 
b GM > O dB and PM < 0 d~.,.ee 

c, GM < 0 dB and PM > 0 degree 
d. GM < 0 dB and PM < 0 degree 
Wba1 is d>e g<llil margiu of a sys1em when 
tJ1e magnitude of the polar plot at phase 
cross over is "a'? 
a, 1/a 
b -a 
c Zerl) 
d. • 

85. What is the value of tl1e damping ratio of a 
second order system when ~~• value of the 
resonant peak is unity? 
a. .fi 
b Unity 
c ll .fi 
d. Zero 

86 The closed loop transfer funcrion of n 
control sys1em is 

l s(s+l)(s + 5)1 K 

What is the frequency of the sustained 
oscillations for marginally stable 
condi tion'l 

a. J5 radls 

b ,[6 radls 
c. 5 rad/s 
d 6 rad/s 

87. The closed loop transfer function of a 
control .sy~t~m ha~ the foll owing poles and 
zeros 
l'ules Zeros 
PI~ -(),5 Ll ~ -6 

f'l = 1.0 Z2 = -8 
p}- -5 
P4 = -10 
l'be dosed loop response can he closely 
approximated by considering which of t11e 
foll()wing 1 
3 . fl • and pz 
b P> and p,, 
c. PJ and z1 
d. P• and Zt 

88. Consider the following statements for 
pneumatic and bydraulie control 5)/St~ms 

IUof i J 
Thl' normal operat1ng pressure 
Of pneumatic COntrol lS VCI)' lltUCh 
higher than that of hydraulic comrol. 

2 . In pneumatic control, external leakage 
is permissible to a C<!nain C.'MOt, bUI 
rhere should be no leakage in a 
hydraulic comrol. 

Which of dte statemems given above is/are 
correct? 
a. I only 
b. 2 only 
c. Both l and 2 
d. Neither I nor 2 

89 Which one or lhe" lollowing is correct? Tn 
satellite communication links, generally 
a. rhe uplink carrier frequencies ane 

&..-catw• Oum dowulink c"llfl'ieo· 
frettuencies 

b. the uplink carrier treq1oencies are lesser 
than downlink CRrrier frequencies 

c. both uplink and downlink carrier 
frequencies are same 

d. it is not necessary to use earner at all 
90, Why are semlconduclor lasers important 

for communication engineering? 
I . They possess large bandwidth 
2. They operure at low voltage 
3 'll1ey are suitable l'or coupling to fibers 

at wavelengths. where the attenuation 
is vcoy small 

4. Their 1megration wi1h other 
components is ea;-y 

Select ~~e correct an~wcr u;ing the code 
given below; 
a. I on ly 
b. I and 2 only 
o. 2 and 3 only 
d I 2, 3 and 4 

'II Tl::M wave cannot propagate In which one 
of the lollowing? 
a. 'l'wo wire transmission line 
b. Coaxial cable 
c. Rectangular wave guid~ 
d. Micro-strip line 

92. Duct propagation of microwave occurs du e 
to which one. of the following? 
a. Variation of refractive index with 

wavelength 
b. Variation of refractive ihdc,, wirh 

length 
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93. 

%. 

97. 

98. 

?9. 

c. \ ; nrinliun of relf:11::five mdex wl1h 
heigbl 

d. Nrme nflhe •bove 
lu tuiti'Ownve communication liu.b., what 
causes int<msc fading ill the 18 Gllz. bund7 
n .. Snow 
b. Rnin 
c, Fog 
d. Dust 
['ropos-pheric SCa"l1er I.!OmtnUtli\!.:llion is 
"""" for whidl frequency l>•nd? 
n. rtF 
b. HIF 
c. u'liF 
d. VLF 
During power me:~surement the out J)('IWCf 

mc;~sured wus -90 dflm. Wh•t is the 
m~s.un:xl power in \V'1 
d . I rn\V 
b. J pW 
c. 10 w 
d. I \V 
La mea~uring pulsed m1crowave power. the 
Pl'l'e duralion is 15 11s \1 ith PRF ofl kffz. 
11' rho CW ro".,. scns<>r read-; 15 111 W. 
what ill Ul<> •verugc signlll po\1 er during 
the pulsc1 
a. 5 W 
b. 10 \V 
c. 15 \V 

d. 20 \V 
Po1· obL3iuint a bdaut of el«ltomag.uetic 
\\aves witl1 cir~uJar pobt·ization1 what js. 

th!' ideo I autenn:>7 
~. A double c.onical rellector 
h. A helie•l ;lnlenna 
c. A pyr.mudal hvm >ntonon 
tl. A hog-hom •ntenna 
A mlcrowa\'e anl..:ltua-dtaracletislJcs ar~ 

tlesw~b'-'tl ns, low weight, low power· 
handling copacity and 191' bond1vidd1. 
What sball U1is be? 
"" Helk:rJ antclllla 
1>. Sect~ raJ httm •ntenn> 
c. Micro-sllip patch antcnuu 
d. Microw:tve dipole autcllllJ 
\\llust l!l a wuvc..--guidc ,lcvice which i1 
designed with steps in eidter the magnetic 
nr electric plone known.-'( 
"- C<Htductal}ce tiQnvertcr 
b. Jrupedancelronsformer 

c. Impedance c:>nceller 
d. Reacunce folio" <;r 

IOU. Which principle of operation nr cavity 
w;sv~·meha-1>. is us~ in ut.icrow:we 
ntiworkb-1 
a. Phase shift 
b. Resonance 

c. Polariz•tion shit\ 
d. Gymtion 

101. rn a w•vegllid" network. !here is • 
component wruclt eollllisls uf :m E-pl~nc 

Tee combined witlt >n H-planc 'fee. What 
is tltu; oomponent gener•lly known a•7 
:1, Din:cti(lnnl 'f .:e 
b. Pha•ed a.m y Tee 
c. Couplet 'I ee 
d. Magic Tee 

l02. Phase fo<:usinj~. wluclt lend~ tu hun.,hio,g 
of clc..:trott' t.Jw., pluoc iu wlticlt une of 
the following? 
a, Double reson31ttr Kly•lmn 
b. Rene., Klystron 
c. T\V'I 
d. Mngoctmn 

l03. In n mugnctti)O Qscillatot. lloc. 
lrnprowmCnt of Kl:lbj]ity nnd efficienCy l)ll 
:1chjevod hy which lec,hnictn~? 

a. Strapping 
b. ('ross coup ling 
<. Jlunchiog 
d. Bouncing 

l04. A Gunn diode is ;.a n~s~nivo n:ri!lAtl(!c: 
duvieo., which is used "M " source: of 
microwaves. Whot is tho number of p·n 
junctions·! 
3 , I 
b. ~ 

c. 3 
d. 0 

I OS Jn n TWT the helix t\ used as which one of 
!he follo,~ing? 
a. Slow wave slruclllr<! 
b. Fast wove structure 
c. Amplltying element 
tl A~enuaung cl"lnent 

L06. Loss<:<; in optical fibJ'CII c~n be cduscd l!y 
which nf tbe followinJ1? 
l. Impurities 
2. Microbending 
3. Stepped ind~~ <lperntinn 
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107 

Select the correct answet usmg the c(l(]c 
1pvcn below· 
a I and 3 
b landJ 
c_ l and2 

u. J Otll)' 

Cort~ider lhe root loco plots 

)jw 
II 

\ 

H ---& 

t' 

corrt.-et? 
a A 
b. B 
c c 
ct D 

" 

;.. 

a 

I ()S Which one nf th~ followtng slnu.•ment> ~~ 
correct fir mol I oci'l 
a. The root loct urc a>')'rntnclllcal wllh 

respect to the real axtS. 
I> The root loc1 are symmetri"tl woth 

respect lo the real axts 

109. 

110 

Ill 

12 or IJ 
c TI1e roqt locus 1ies in u St:!ttiOI1 

oftllC real ax os to the leO ofwlueh an 
odd number of poll'S and zeros of open 
loop sy:;rem 1lf<' prcscnl 

d l11e root locus I ies in a sec non of the 
real axos to the nght o)J' \vhoch an even 
numher of poles and 7.erns of open 
loop sy!!lem me prcsenl 

Whoch one of ~1c loll owing is correct'! 
ll1e root locus os the path of the rt>ols or 
the chaructellstoc equation traced ou1n1the 
s-planc 
a as the input of the system IS chat>ged 
b. as the output of tilt' syswm is changed 
c.. as a syst~m pammeter is changed 
d a~ the sensotovuy is changed 

A memory 'ystem of size 32 kbytes 1s 
required to be des1gncd LtStng memory 
cbjps wtuch bave 11 address lines and 4 
data lmes eadL What 15 the number of 
such chips r~quircd to design t11c memory 
>)'Stem? 
a. ~ 

b 8 
c 16 
d. 32 

fllol Ult;! 

1-r,--,l""• l f- ';----~ 
C"\l r CLI< 

L- ~ 
'----

lne above c>rcuit iiiU!;trmes a I)'Ptcal 
apphcanon of the JK fltp-flcyps. Wbm does 
lhts represent"! 
a. i\ shirt rogtsror 
b A dutu ~toragc dcv1ce 
c 1\ frequ~.tncy dtvider circlnl 
d A decoder corcuil 

II~. A digotal mulllplcxer can lJ<! usctl tor 
which of the tolluwing? 
I Pamllelto serial conversion 
l Many·t~>-one swtlcll 
3. To !JCocratc rncmory chtp select 
.:1. for code conversion 
Select the correct answer usong the cod< 
goven helow 
a I, Jnnd ~ 

b l. J and 4 
c I and 2 only 
d 2 and 3 only 
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113. 

II~. 

115. 

116. 

.. 
v, 

tV • 
J:"'i.:...l!. 

• IK 

•• 

\\llal is th~ output IOitagc ·v.- or the R· 
:!.R detockrladd~r nd\\Pt1<! 
.L IV 
b. 2V 
c. JV 
d. ~v 
What is an interrupt in "hioh the Cl'b!mal 
lk1k~ 5UJll'lics it> add~, u;, "~II as the 
interrupt request t..no\\n as'! 
a. Vcclnntl int~mtpt 

h. Ma.•kabk interrupt 
c. Non·mllS~~blc inttrrupt 
cJ. None of the obo>~ 
Whkh ont of th~ ft•lloll in~ is correcl'! 
1\ rn len• pro~;r.un 
11 is usuOII) written in high lc1'CI 

lunguuJle 
b. is u wogmm lor micro oomputcrs 
o. I$ a pm~rttnl •ll'iUcn in asscmbl) 

longu:tge 
d. is a scqucncin~ pm~r:un lur the ct'lt1trol 

unitofatl) pro.:c,sor 
Mot"h List I with Lbt II and >"lect ~~c 
correct tm>ller u;ing the cod( gil tn btltm 
th< list£: 
List I 
A. Immediate acJdn:5:,iog 
B. lmplii.-d a~'<\in& 
t . R~i·t~r acl~<ln~ 
D. Din'l:t acldn:s>ing 
I i>t II 
I. LDAJOII 
2. MOV i\,ll 
J. LXIIU050 
~. RRC 
Code: 

II. 

I 
b. 
c. 

A 
J 
2 
J 
l 

H 
4 

(' 

2 
3 

3 

I> 
I 
~ 

4 

117. 

118. 

119. 

I_; ··f l3 

··-C •• 

-•v 
fhc tbfi!Shold 1 oltajle for or.~ch transi,tor in 
the ligun: SOO\\ n abo1c is 20 V. Wh:ll are 
thc ,3Jucs of V fl)r this circuit to "ork :JS 

an in1ener1 
n. -5Vand OV 
b. -5V and 5V 
c:.. UVand5V 
d. -JVand 3V 

c ~:::::....--1 
Ekt:Oft 

X 

for the logic circuit :.holm in the ttbo>l) 
figun:. whut i> the NQUir<d input oonditlun 
lA. B. C)lo mo~e ouiput X • 11 
a. 1.0. I 
b. 0,0. I 
\!, I, I. I 
d. 0, I, I 
The output of the circuit sbown in the 
llgur~ is equal tO 

11. 0 
b. 
c. Ill - 18 
d. ( . .J•B )•A•B 

l ~0. Two 2's complcmenl numbers hal in~ ~igo 
bit£ ~· and 1 • an: oddcd and lbc sign bit of 
the result is "c·. \\ 'bicb Boolean functi.lo 
mdicates of the 01erl1<"'? 
a. '<YZ 
b. iy: 
c. rr=~ r-,·= 
d. o:>+p+=< 
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